
1. II? A = (21, 12, 11, 22, 12) tbt%  A  hJl%lhh

1) 2 2) 3

3) 4 4) 5

fhm¶l  i% u’a  3 )

twpl  t:oJ9l?li7  1 2  &T-h  2  i7-d

2. te:  B = [2, 1, .3,  1, 3, 2) U&J  B tn'liht‘lf~bl

1) [213) 2) [22,  11, 33)

3) II,  2, 31 4) pym%

d1mmJ WB &I 3 )

nwpn  thhvav7twlQnuowmI~  7 mulant%.uG7Kx  ttmm.~ant%uk=&~~

n’uvT

&it4  R%Jl%llIDJ B u”  1, 2, 3 iJLh4-h  B = (1, 2, 3)

3. I<  C = ]a,  b, ICI)  t&a  %malaJ’lmhi)~9

1) [cl c c 2) c E c

3) 1% bj  E C 4) Ia,  lclJ  c C

dlcsml  SiFl  u’o  4 )

nnqfm I)  1~) thau+hwo~  c

h.k.4  (c]  iJlait8u~¶Jt~mlloJ  c

2) c IJtilunuiQnuo~  c

3) a rihWJl%lYo~  C, b n"thRul!hlDJ  C dotu’ou  [a, b]  HUl0ii~  t?.lr~;t

Lhrnoll&aS?o  a, b ~Jthi?lJtamIoJ  c

&&A  [a. bj  E C thtn”F,

4) tihwn  a ttw  lc]  dlGh4aulQntlo~  C

&lfU [a. [cl]  th&Jt~ol%ElJ  C

4. tr;;  A = [1, 2, 4, 61  LLR::  B = 12, 3, 5, 6) tth  A f-l  B h’Llolh

1)  [3,51 IL 2) (2, 6)
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9 6

4) p A s till.Ga

-(p/u)  LiJUF)?J

q V r tihXlfJ

- (phs)  * (qVr) till.tQ~J

12. $1 (phq)  a r  thtn”Wt%  p, q, r &ilfl~l8JQ~JtilUfdlJ~~

1) p tbJ?J,  q the?J,  r thl?J 2) p tkl?J,  q tb?J,  r thtn”9

3) p tihtio,  q thtfkl,  r thIl?J 4) p tdUtn”Q,  q tClUtn*~,  r tChttn’9

i1mll  iie Ge 2 )

t%lgHa LdOJ17n  p LilU’il~J,  q tih?J  iJ%<l phq Lhl’iJ

(WI)  * r

GJ Gil

‘Lid

1 3 .  t’rlFltff7~iini32RH?~~~int~~  p s q n’u  -9 t&aiapl  -p tilunixqdpdiod

ibiotdou’o~?7u’latflu  Tautology

1) ((P * 9) A  -s)  * -P 2) ((P * s) V -9)  V ‘P

3 )  ((P * 4) A  -4)  A  -P 4 )  ((P * s)V -4)  * -P

dlmJ iis Cb 1 )

rnqpta  mw5q  p s q fh -9

iJLijUU~&~l  ( p  a q)  A  -q

ttaza@  -p ~J~%JU~YJWJ~WI

((P * s) A -4)  =*-P



9 7

P q

1

-P -q P-q (P=W--cl  ((P-,c.l)A--d~  -P

T T F F T F T

T F F T F F T

F T T F T F T

F F T T T T T

1 4 . lC@ao& $0 (1,  2, 3, 4, 5)  kZa~9-67  (X/P(X)]  do P(X) %I X+ 1 < 5 &vi-fml~

1) io,  1,  2 1 2) iI% 4

3) [I,  2, 31  4) qnyn&

ANml  &I u”FJ  3 )

15. l$$ibani~  (1, 2, 3]  99Gl15m141  vx P(x) zha5JLiQ  P(x) ;QfiQh

1) P(x) 60  x+1 < 4 2) P(x) 60 x+1 > 0

3) P(x) ii0  x L?hALAlIfi 4) P(x)  ii0  x < 0

fhwlu  ihI  u”B 2 )

nwpa  1) 1+  1 < 4 &hi?J

2+1 < 4 zhil?,

3+1 < 4 6hLwc0

Vx P(x) d0 P(x)  60  x+ 1 <  4  dULn”‘9.

2) 1+  1 > 0 a%clfJ

2+1 > 0 dUi)~J
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3+1 > 0 rihs3J

. . vx P(x) Ido P(x) wo x+ 1 > 0 liho3J

3) 1 cl’UbR2l~  dub%

2 1au1allf-j  lh91~9

3 thtau~  LhlGa

..  . vx P(x) b&l  P(x) &I  x i%.wl~  &u&l

4 ) 1 <  0  LihLGa

2 < 0 10u1&l

3 < 0 l!zh-llG?

..  . vx P(x) &I  P(x) ‘&I x < 0 LiJMLGP

1 6 . ‘l$jibi&iQ  [l,  2, 3j 9J$i9lmll-h  3x  P(x) $h&!hdo P(x) hihtm

1) P(x) iiQx+l  <  4 2) P(x) $0  x+1 > 0

3) P(x) ii0 x A.wNj 4) P(x) wo x < 0

RlmJ  ws $0 4 )

lnqm ill?&  15  ~~l);iu~fI  4 l~u~~~ld~tl~u~l  x &.$a&  RJh  p(X) Lbtk

I~filn,?lus?Jl~Ml~~MaJ~

4-J&  3x P(x) dfl P(x) $0  x < 0 tdurn”o

17. I~~QtaoiaffotaoluoJiiuaMt~~iuuan  ~7~~~  P(X)  htei~ru’ooiold~  wTe15nr1

MmairJlntDua~~

1) vx P(x) id, P(x) iTo x2- I >  0 2) vx P(x) do P(x) %I  x2 =  4

3) 3x P(x) Id8 P(x) ii0 x2+ 1 = 2 4) 3x P(x) ldfl P(x) $0  x2+ 1 < 0

A”lm9ll  ii0  $0 3 )

mqm 1) x  =  i el&h

1 - 1 > 0 dutn’o

vx P(x) 1&41n”o

2 ) 12 = 4 1uurn’tl

22 = 4 tiluo%

3*  = 4 Lihln’Q

vx P(x) lihln’5l
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18. \I? A = [a, 11, B = [I,  2, 31, C = 13, bj aLi% AxC 60  Lll@lh

1) I@, 3), (1,  WI 2) [(a, 3), (a, b)i

3 )  I@ a), (a, 11, (1, a), (1, 1)) 4) b,  3). (a, b), (1, 3). (I.  b)/

dmnr &I u's 4)

a%wpl  AxC $0 t~~slos~~~~~EI89dstu7gnoia#dladaM  A kwwl%nK3'apsa"9

o$u c

&lfl4  AxC = ((a, 3), (a, b), (1, 3). (1, b)]

19. tps" A = 11.21,  B = {a, bj u~~"~~~~aba~J~saal~~~~~~~ln  A !Lk.h  B

1) i(l,  4 2) i(l. a), (2, b)]

3) [Cl,  a), (1, bll) 4 )  cpp-h

&melJ %I $0 4)

1M~Wl C17lU&JYB)W'Prhl  A h.kk B LflUi%JlTfa619lO9  Ax B

L&N’Wn  Ax B = {(I, a), (1, b), (2, a), (2, b)]

bW [(I, a)], [Cl, a), (2, b)],j(l,  a), (1, b)]  n'lJn"a?h.&fhTV+l~QJ

i(l.  a), (1, b), (2, a), (2, b)]

hiJ9lkd  ((1, a)], [(l, a), (2, b)], [(l, a), (1, b)) dl4n"L?h#l~lXJ&JY?U6dln

A ldt,l  B

20. 1s R = ((1, a), (1, b), (2, a), (2, b)]  L&dh~slshilf~

1)2Rb 2)  2R2

3)  bRb 4 ) a R l



1 1 2

2 1 2 1

66R"3~Q'on?lUZsl6dUP5~

1) (202) 0 2 = 2 2) (201) @ 1 = 1

3 ) (102) 0 1 = 1 4) (101) @ 1 = 2

dlmnJ  ib  u’e  1

n4qwa  1 ) 202 = 1

(202) 0 2 = 102
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102

(102) 0 1

2 3 .  tilHhh~'WQ~J  a ,  b  161  7 $1  a b  = a c  U&d  ?r!&h  b  =  c dakl

1) d0  b # 0 2) 6&  a f 0

3) LdQ  c # 0 4) LdQ  a # b # c

ho¶J  d a  &I 2 )

b?wpa  b&J81*  a d&av\v  &l.ft.k  a %3kNI8.iasi7?%J~t&

24. ilMhhM1U~=iJ x, y, zb  7 x - (y-z) LYilfkihbl

1) (X-Y)  - z 2) (x+y)  - z

3 )  (x+z) - Y 4 )  (x+y) +  z

fhQ¶l  d o  $0  3)

x - ( y - z )  =  x - y + z

zz x + z - y

= (x+z) - y
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26. ilI4%J~lUaU9?9  a, b hl  “]  61  a<b  dtd  u”anal2Jhilu~~MW~

1 )  - a < - b 2 )  -b<-a

3 )  -b<a 4 )  -a<b

d1mP) Is &I 2)

qwa Pm a < b

2Zki-h -a > -b
A.4
UwlO -b < -a

2 7 .  fil¶fO9  -4-(-5(+(-4+2-81  i%lLYil~f

1) 0 2 ) - 1

3) 1 4 ) 10

hmJ isI &I 3)

qwa -4-(-5(+(-4+2-S(  = -4-5’+/-101

= -9+10

= I

28. 61 Ix-21 < 4 L&d x i%1Wilb1

1 )  -2<x<6 2 )  -6<x<2

3 )  -2<x<2 4 )  -4<x<4

dlmJ  d a  &l 1 )

rwqwn  5-1 Ix-21 < 4 r&a

- 4 <x-2 < 4
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-4+2 < x < 4+2 (2 uanmm)

31. aiPb?ot2n~il~iiu?Proaaanerc

1) 0.1 2) O.lll...

3) 0.010101...  4) 0.101001...

d1mu ;a &I 4)
Y
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i1weu  Wa  u’e  1 )

qera 2% = 2(4, 3, 2)

= (8,  6,  4)

3Y  = 3(2,  1, 3)

= (6,  3, 9)

2x-34: = (8, 6, 4) - (6, 3, 9)

= (2, 3, -5)

1) (5,  6) 2) (6,  5)

3) (4,  - 1)

+i1meu zkl &I 2)

awvpa

4) C-4, 1)

P”o  = $Q ~ 6i’

CQ = TQ  + 0’

= (1, 3) + (5, 2)

= (6,  5)

1) ( - 4 , - 1 2 , - 1 6 , 8) 2) (4, 1 2 , 1 6 , - 8 )

3) (4, 1 2 , 1 6 , 8) 4) ( - 4 , - 1 2 , - 6 , - 8 )

d1vm.l  Go  $0 1 )

aqr4a -466  lDl.b  4 avilvo~  * aaac~w^aPllsm3s~u~laJ~u 6b

&ii.4 ?Q = -46i’

= -4(1,  3, 4, -2)

= (~4,  - 12, - 16, 8)

35. aps”  p’= (1, 3), 5 = (2, - 1) L&J  p’a h&-i@

1) (3, 2) 2) (- 1, 4)

3) (1,  -4) 4) (2,  - 3)

&ma¶J 48 ctl 3)



37.

38.

9 = a&b<

Twd a+b = 1

L:QYPln  \ 3-1 =
2 2

1

&&A p’ = ;Q - $2

LttTiNil  P, Q, R Of&UL~MmTJtifJ?~U

61 P ihX&.tmt~u  (1, - 1.2) tttx Q ~h9Q%%kmt~~  (3, - 2,4)  tth x%mJ

~tWi1J  P ?k Q M:O d(P, Q) UTfkiXJ

1) 1 2) 2

3 ) 3 4) 4

fhm  iiD  &!I  3)

tnqwa d(P, Q )  =  4(3-l)’  + (-2+1)’ + (4-2)’

= -4

= \iis

= 3

61 A &Nti2itUdU  (4, - 4) UAE  B il‘N&tU@ltikr  (6,2) t&i C ~JtilU@hl~1J

‘JOJ  AB ib&dhil~~

1)  (-1, - 3 ) 2) (5,  -1)

3) (1,  3) 4) C-5,  1)

filAmJ iie b 2 )
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= (5, - 1)

39. aunim%mddiq~  (-3,i)fkj~1  (2,5)hw~ni~If1

1) 4x-5y+17  = 0 2) 4x-5y-17 = 0

3) 4x+5y+17 = 0 4) 4x-t5y-17 = 0

R1aolJ ws &I 1)

6wpu aunisthmr.Aiiu~~  (x,,  yl)  tmr (x2, y2)  &I

Y-Y1 Y2-Y1-=-
x-x, x2--1

1uMl~  (XI.  Y1)  =  C-3,  l), (X2, Y2)  =  (2, 5)

&;Jw"u  nun7mbddi~Jn73  &I

y-l=-5-l
x + 3 2+3

4
= 3

y-l = $x+3)

5(y-1)  =  4 ( x + 3 )

Sy-5  = 4x+12

5y-5-4x-12 = 0

5y-4x-17 = 0

4x-5y+17 = 0

40. runimhm&hu~a  (-~,o)LLR~~~?Iu~uL~'~~~  i Woaun732n

1)2y+x+2 = 0 2)2y-x+2 = 0

3)2y+x-2 = 0 4)2y-x-2 = 0

fhflau ii0 Ca 4 )

mqpta  runis&wi~dhqa  (x,,y,)tbidfl77uih = m&l

Y-Y1 = m
x - x ,

ZiJtu  run~5&.m~&oioJn7r  Wo
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4 1 .  n"7
x 3i 1 +
2 Y

1)x= l,y=4

3)x=3,y=3

fhcnou  i%l  u’e,  1 )

[

x + 2
qwa

2+1

PiWh

2y = x+2

2y-x-2  =  0

4)x=2,y=  - 3

:‘:I  ‘= [: :]
x+2 = 3

X = 1

y-l = 3

Y = 4

1) [ 2 0 2  1 I 2) L 4  1 3  1 1
5 2

4) r 3 3 1

2 2
= i 10 1
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A + A B  = r iI + Liz :I

- 5 - 3

1) L - 3 1-2.

2 - 3

4) L - 3 5 1

ad -bc =  5x2- 3 x 3

= 10-9

= 1

2 -3
A-’ = i 1-3 5



= 1x8 - 2x7

=  8 - 1 4

= - 6

4 7 .  hwnia9pd~iio  ~+3y+52  =  I

y-+22 = 1

2x-42 = - 2

9in Cramer’s rule i),‘k?-il  x = 2, y = 2, z = g b&f  D ;icil~‘l~a

1) - 1 2) - 2

3) - 3 4) - 4
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1 1 1

‘p3 = 5!
(5 - 3)!

S!
= yj

5x4~3~2~1
2x1

= 60

5!SC, = ~
3! 2!



II
II



zz 6x5x4!  2  4
4!  2!  x y



1 1 4

rtlf’jHa tl‘if%Jt?.iRatd~  = (HHH, HHT, HTH, THH, HTT, THT, TTH, TTT]

K&t au79ntuuaut0aatd~ =  8
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iwxbnu%inIurtymfii E = 3

iiumwSinhnymfiI  F = 1

P(E) = $

P(F) = ;

Ln?nifni~nOyriiyORiiyl?njOYORi7dil  tie rnqnvrii EuF
9777 P(EUF) = P(E) + P(F) - P(EnF)

61. Ifi Ah BduLnqnl7&$J  p(A) = t, p(B) = +, P(A~B) = $nR'1 P(AUB)

dfilL?ill7

hlrlu ws 63 2 )

6wpn  ‘i)in P(AUB) = P(A) + P(B) - P(AflB)

62. \I? P(A) = +, P(B) = ; LLA: P(AnB) = ; L&J P(AIB)  iiht'il~~

1) ; 2) $

4) $3) ;

dlvml ii0 Go 1)
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P(AIB) = p(;(;)B)
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1 1 1 1 1 1
T’ 5’ 3, 4’ 5, 6, . . . . 1 1__ -

loo ’ ‘..’  1000 ’ ..

65. lii (x3-2x2i-3x-4)~T;lL~l~~~l~~~~~

1) 1 2) 2

3) 3 4) 4

hlsu  da 1uyQ  2)

nwpa liz  (x3-2x2+3x-4) = 23-22222+3x2-4

= S-8+6-4

= 2

1) - 5 2) -4

3) -3 4) -2

hlmJ  i%l  u’e  4 )

anqm
x2-1

$2,  x+l =
lim  (x+1)(x-  1)
x---l x+1

= lim (x- 1)x---l

zz - 1 - I

= -2

67. ih f(x) = 3x2  -2x+ 5 rttb f’(x) Mio gf(x,  ;hht,

1) 6x-2 2) 6x2-x

3) 6x3-2x2 4) x2-x

R1clsll  ihI VYb 1)

mvp f ( x )  =  3x2-2x+5

f’(x) = 3x2x-2

= 6x-2
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68. til f(x) = x*(x-  3) Uh  f’(x) H:O  &f(x)  ikllWil~~

1) 2x2-3x

3) 2x3-3x2

holall  %I  tit3 4 )

mvpa

n’io

1”fJi

LLA::

69. j x*dx  ijc;lL'l~~

1) $+C

3) x*+c

filvlbll ii0  40  1 )

mqpra

f(x) =

=

f’(x) =

=

f(x) =

f’(x) =

=

zz

f(x) =

fdx)  =

2) x3-3x*

4) 3x2-6x

x2(x-3)

x3-3x*

3x2-3x2x

3x2-6x

x2(x-3)

2x(x-3) + x*(l)

2x2-6x+x2

3x2-6x

fdx)f*(x)

X2, fz(x) = x-3

2) 2x+c

4) 2r3+C

s
x”dx  =

x”+l
- + cn+l

s x*dx  = X3T+c

70. j (x3+3x2+2x+l)dx  i.hiltYil~~

1) 3x2+6x+C 2) 3x2+2x+2+C

3$+%+2+c 4);+x3+x*+x+c

rilROlJ  iib Go 4 )

mcqua s (x3+3x2+2x+  1)dx  = ;+  ‘;  + ‘;  +x+C

X4= q+x3+x*+x+c


